Tt

Lz

CMD

294

CMD[ |-[] = &ded 35MPa =
AT 0IHAIO SYIO HHALIC
EHeFUAI BARLYLD
At &t
INJYES AERS
02 05 10
04 05 10
06 10 20
10 10 20
CMD -
20 10 20
40 10 20
o 15 25
0 5 2s
N = sxyas9UnL
g 4 CMDO02 CMDO04 CMDO06 CMD10 CMD20 CMD40 CMD50 CMD80
AEZ3 mm | 5 10 5 10 10 20 10 20 10 20 10 20 15 25 15 25
224243 5MPa 03 0.4 0.7 1.2 2.0 35 4.6 7.0
2‘251 Se2i7MPa 0.5 0.9 1.5 2.5 43 7.4 9.9 14.9
© | |g=25MPa 2.1 3.4 5.6 9.3 15.8 27.3 37.0 5.4
KN | 2er235MPa 2.9 4.7 7.9 13.0 222 38.4 52.1 77.9
HEUHS AL 0 F=0084XP008 | F=0.137XP-0060 | F=0209XP-0093 | F=0376XP-0147 | F=0640XP0219 | F=TI07XP0377 | F=1S05XP0620 | F=2250XP-0835
SUHWZ mm | 16 18 22 28 36 46 54 65
zony mm |10 10 12 16 20 25 30 35.5
N cm? 0.84 137 2.29 3.76 6.40 11.07 15.05 22.50
e L/min 0.25 0.41 0.69 113 1.92 3.32 4.51 6.75
seey an’ | 05 09 07 14| 23 46 38 75 64| 128 11.1] 222 22.6| 37.6 33.8| 563
Bl AT N | 30~56 | 43~77 | 65~120 | 100~193  170~267 283~470 400~840 560~1110
T 3 kg | 0.10 | 0.12 | 0.12 015 0.23| 030 035 046 069 089 1.1 | 14 19 22 27 32
2UAZUEE2I Nm 8 9 10 14 30 40 200 300
ANBRYAEAI15~35MPa @ ESUA525MPa GABFASEI0~70C GASRUILBBEHRSR (50-VG324 )
YA FAR HORAN, ZARE FE MRS 2AD9E WD USUCHL(RSASS OtELICH)
w1 MREENS AE23 BYANNML SULICH
%2 =& R B2 (KN), P=At 8 222 (MPa)
XIRHATYHES NAE ¥SB~02SS 2S UEEUDT.

TEL. 055-274-0971

E-Mail. : korea@pascaleng.co.jp




CMD[ -[] = &8 35MPa ©=
EX =&
1z
m o=
i} oA FHEESINESE
gI " LEARM2
B = oU 3’ "
- 3
( Max. gV, ﬁ DEZC
=y EE u.i ‘9 Max. oX é
a =
o S Re63 =
ax. R0.4 7
VIEW Z QLI—J« 02 FB EE-:
LEARM2 J LLYZ
" :
O FA oC
mm
= CMDO02 CMDO04 CMDO06 CMD10 CMD20 CMD40 CMD50 CMD80
AEZ3 5 10 5 10 10 20 10 20 10 20 10 20 15 25 15 25 CMD
oA 19 21.5 27 33 45 55 67 77
2B 10 10 12 16 20 25 30 355
o C 20.3 23.3 28.3 34.3 46.3 56.3 67.6 77.6
D 51 65 51 65 69 96 73 1101 80 1109 88 116 108 [136 [119 |145
E 10 15 10 15 16 26 17 27 19 29 20.5' 30.5' 27.5| 37.5 28.5 38.5
F 7.5 8 9.5 11.5 13.5 16.5 22.5 24.5
G 27 36 26.5 35.5 35.5| 52,5/ 355 53.5 355 545 38 56 45 63 53 69
H(S20H%E) 17 19 24 30 41 50 60 70
J (o1 =) 8 8 10 14 17 22 27 30
K (01&HZ) 4.5 4.5 55 6.5 8.5 10 12 13
L 5 5 6 7 9 10.5 12.5 13.5
M1 M6X1 20011 MEXT 20111 | M8X1.25 20118 | M10X1.5 210120 M12X1.75 210122) M16X2 210127 | M18X2.5 210131 | M22X2.5 20133
M2 M22X1.5 M25X1.5 M30X 1.5 M36X 1.5 M48X 1.5 M58X 1.5 M70X2.0 M80X% 2.0
o N 9.5 9.5 11.5 15.5 19.5 24.5 29.5 35
p 6.5 6.5 8 9 12 13 13 13
R 13 14 15 17 20 20 25 25
S 325 41.5] 32 41 42,5/ 59.5| 435/ 61.5 46.5) 655| 50 68 57 75 65 81
T 5.5 5.5 7 8 11 12 12 12
o U 20.5 23.5 28.5 34.5 46.5 56.5 68 78
oV 5 5 5 5 7 7 8 8
W 7 7.5 9.5 12 15 18 19~21 19.5~26.5
o X 4 4 4 4 4 4 8 8
oY1l (RgE27) 3 3 3 4 6 6 6 6
2Y2 (MAHBE) 3 3 3 3 3 3 6 6
OZFA (& EHs90) P6 P6 P6 P6 P8 P8 P9 P9
OZFB (& ZHs90) AS568-017 | AS568-019 | AS568-022 @ AS568-026 = AS568-031 | AS568-034 | AS568-144 | AS568-150
=82 OE FB= HEE0 MZol FEAL.
PE2S FHPE M, BIEAN TAE dHY 0IHZES AN S22 DEMMN DIAES HLYXNE & O3 MZd =HAIL.
=S A MM, S0 S IHMHES 0I8E MZ2, ZEUHZ GHAl DY AIL.
=EZ MZote 2= 2N -HA=EZ0l SE2Z ZHIEHNH USULCH & HME —296-297HO0IXNE EFEXol FHAL
IAEN HAGtS0IU S 01202 &0l I XE=S AIEoHA OINAIL. TIAE DH&ESl Jel0l E LI
HHBIE= UIIHEC2 of FUAIQ. BEARL & S0l S0H2e 22= tH2d =AM
CADHIOIEH S OR2ZE -xAFFE=E DAZSHOXNZ www.pascaleng.co.jp 205




